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Note : Question No. 1 is compulsory. Answer any 

other four questions.    

1. State whether you agree or disagree with the 
following statements and give reasons for your 
answer :  
(a) Play is a waste of time for young children. 

7 
(b) Breast milk is the best food for the child in 

the first six months of life.  7 
(c) The most important years of a child’s life 

begin when he/she joins class 1. 6 

2. (a) List the milestones of gross motor 
development in the first two years of life. 

10  
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(b) Describe one activity each to foster the fine 
and gross motor development of a two-year 
old child. Use the following format : 

5 × 2 =10 

Goal of the Activity  

Materials Required  

Content of the Activity   

3. (a) How do music and movement activities 
foster the development of young children ? 
Explain giving examples.  10 

(b) State any two features of cognitive 
development during preschool years.  

5 × 2 = 10 

4. (a) A preschool teacher has planned a trip to 
the nearby vegetable shop for her group of 
five year old children. Explain giving 
examples, what areas of children’s 
development will be nurtured through the 
trip ?  15 

(b) What activities can be organized by the 

teacher based on this trip, once the 
children return to the class ?  5 
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5. State five aspects related to ‘curriculum’ and 
five aspects related to ‘teaching style’ that you 

will keep in mind when evaluating whether or 
not a preschool centre is appropriate for 
children. Give reasons and rationale to support 
your answer.  10 + 10 

6. (a) Suggest a balanced lunch menu for a four 
year old child. State the dishes you will 
make, the food items used in each dish and 
the nutrients provided by each food item.10 

(b) How can parents foster the development of 
sense of autonomy in the toddler ? Explain 
giving examples.  10 

7. (a) Explain, giving examples, what are ‘pre-
reading’ and ‘pre-writing’ skills. 4 + 4 

(b) State two activities each that can help in 
the development of these skills. (You have 
to describe a total of four activities). 

4 × 3 = 12 
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Lukrd mikf/ dk;ZØe (ch- Mh- ih-)  

l=kkar ijh{kk 

fnlEcj] 2020 

,-lh-lh--1 % cky ns[kHkky lsokvksa dk laxBu 

le; % 3 ?k.Vs     vf/dre vad % 100 

 uk sV % iz- la- 1 vfuok;Z gSA 'ks"k esa ls fdUgha pkj iz'uksa 

ds mÙkj nhft,A 

1- crkb, vki fuEufyf[kr dFkuksa ls lger gSa ;k 

vlgerA vius mÙkj ds dkj.k crkb, % 

(d)  NksVs cPpksa ds fy, [ksy le; dh cckZnh gSA 7  

([k)  thou ds izFke Ng ekg esa f'k'kq ds fy, ek¡ 

dk nw/ loksZÙke vkgkj gSA  7 

(x)  cPps ds thou ds lcls egRoiw.kZ o"kks± dh 

'kq#vkr rc gksrh gS tc og igyh d{kk esa 

vkrk gSA 6 
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2- (d)  thou ds izFke nks o"kks± esa LFkwy fØ;kRed 

fodkl ds ekunaMksa dks lwphc¼ dhft,A  10 

([k)  nks o"kZ ds cPps ds lw{e vkSj LFkwy&fØ;kRed 

fodkl dks c<+kok nsus ds fy, ,d&,d fØ;k 

dk o.kZu dhft,A viuk mÙkj fuEufyf[kr 

iQkjesV esa nsa % 5 × 2 = 10 

 fØ;k dk mís';% 

 visf{kr lkexzh% 

 fØ;k dh fo"k;&oLrq% 

3- (d)  laxhr o 'kkjhfjd xfrfof/;ksa okyh fØ;k,¡ NksVs 

cPpksa ds fodkl dks fdl rjg c<+kok nsrh gSa\ 

mnkgj.k nsrs gq, Li"V dhft,A  10 

([k)  'kkykiwoZ o"kks± esa laKkukRed fodkl dh dksbZ 

n k s fo'ks"krk,¡ crkb,A  5 × 2 = 10 

4- (d)  ,d 'kkykiwoZ f'kf{kdk us ik¡p o"kZ ds cPpksa ds 

lewg ds fy, utnhdh lCth&foØsrk dh nqdku 

ij tkus dh ;kstuk cukbZ gSA mnkgj.k nsrs gq, 

Li"V dhft, fd bl Hkze.k ls cPPkksa ds fdu 

fodkl&{ks=kksa dks c<+kok feysxkA 15 
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([k)  d{kk esa okil vkus ij bl Hkze.k ds vk/kj ij 

f'kf{kdk dkSu&lh fØ;k,¡ vk;ksftr dj ldrh 

gS\   5 

5- ^ikB~;p;kZ* ls lEcfU/r ik ¡p igyw vkSj 

^f'k{k.k&'kSyh* ls lEcfU/r ik ¡p igyw crkb, ftUgsa 

vki ;g ewY;kadu djrs gq, è;ku esa j[ksaxs fd 

'kkykiwoZ dsUnz cPpksa ds fy, mi;qDr gS ;k ughaA 

vius mÙkj ds i{k eas dkj.k vkSj rdkZ/kj nhft,A 20 

6- (d)  pkj o"khZ; cPps ds fy, nksigj ds Hkkstu dh 

larqfyr O;atu&lwph crkb,A crkb, fd vki 

dkSu&ls O;atu cuk,¡xs] izR;sd O;atu esa iz;qDr 

[kk|&inkFkks± vkSj izR;sd [kk|&inkFkZ ls feyus 

okys iks"kd rRoksa dh tkudkjh Hkh nhft,A  10 

([k)  ekrk&firk 13 ls 36 ekg ds cPpksa esa Lok;Ùkrk 

dk fodkl dSls dj ldrs gSa\ mnkgj.k nsrs gq, 

o.kZu dhft,A  10 
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7- (d)  mnkgj.k nsrs gq, o.kZu dhft, fd ^iBu&iwoZ* 

vkSj ^ys[ku&iwoZ* dkS'ky D;k gSa\ 4 + 4 

([k)  izR;sd dkS'ky ds fodkl esa lgk;d n k s 

xfrfof/;k¡ crkb,A (vkidks dqy pkj fØ;kvksa 

dk o.kZu djuk gSA) 4 × 3 = 12 
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